U-9 v=7271U—2CUP
T7—=ANTUU/N 12-3-12 R /NS
NA=DY4
Effrg | = 7FA | /MUJEC B A e e YN JIEAT
® 1
Fl re A o 1 3 5 -2 2
1 - 1} 2 - 4
® 1
¥ =7 FA A o 1 1 5 -4 3
1 - 1 0 - 4
©) 3 3
/NLJEC @) O 6 8 2 6 1
4 - 21 4 - 0
B7 oy’
B | 7702 | Hox 51 A oY I T 5 150 575 JIEAT
@ 1 1
HE W A A 2 3 3 0 2
3 - 30- 0
® 1
77 a2’ o 1 3 4 -1 3
3 - 3 0 - 1
©) 1 3
o A O 4 1 0 1 1
0 - 0o 1 - 0
T7—=ANIU/N 12-3-12 [T /N
Vivar /_\ =] . ﬁ: Vg
%57 =Y AT e
BH AR IRE Pk el A7avr | 1AL /INMLJFC
9:00~ mE 1 - 1 v=7FA R A i)
9:35~ WHEEH 3 - 3 772 e ) R 371 27 FA
10:10~ EEE 2 - 4 /NUJFC 77°n—A
10:45~ HEH 0 - 0 Hhrox v’ 2 7FA B a2 KA B
11:20~ E'=27FA 0 - 4 /hNUJFC BHHOX 20T -
11:55~ 772 0 - 1 o /NMLJEC 37 771’
T7AFNTUN 12-3-12 T /N
Yaraxy A NS N |
12:45~ E27FA 0 - 4 77%u—2 |Alf7
13:20~ 7 | /MUJFC 1 - 4 Byvox B2
13:50~ R 0 - 0 HEH SRYA
NI AR | 6 |=revvAd—n
T DR ADIEE ofir | box
14:30~ Hnox 0 - 4 TIEAVA-ARE 3 | B=27FC




U-9 v=o77U—2CUP
77—ANvN 12-3-12 [T/
C7avyy
I
SJZE B FE v LA Kt s | SR EE [[=tha
® 1
SJZZ R A o 1 3 5 -2 2
3 - 300 - 2
® 1
EE A o 1 3 6 -3 3
3 - 3 0 - 3
©) 3 3
IV VYAV O O 6 5 0 5 1
2 - 0/ 3 - 0
D=
FHNE | o TEC| g P55 A AT A FR IR R e JIEAZ
® 1
FHNE (] A 1 0 5 -5 2
0- 5 0- 0
@ 3 3
=7 FC O O 6 11 0 11 1
5 - 0 6 - 0
® 1
TR Wi A o 1 0 6 -6 3
0 - 0 0 - s
T7—=Ab778 12-3-12 T /N
Yaraw /NFH. . 18
A x%%@%ﬁﬂ
e | ik I ) cruvs | 1 | x=senvt—n
9:00~ SJZ#® 3 - 3 £ FHNE 22\A NS
9:35~ FhmE 0 - 5 EaT7FC SJZ K 3L £
10:10—~ SJZ®W 0 - 2 z/epvt—n =7 FC
10:45~ FHNE 0 - 0 1] iy EE D7y 147 27 FC
11:20~ T 0 - 3 x/epvt—n {A] Hify 20\F. FHNE
11:55~ E27FC 6 - 0 1] i TN A= _IA 1] fify
T7A VTN 12-3-12 ELINE
Vivarg A =] . i; Vg
%57 =Y AT R
12:45~ & 3 - 3 (G C1{i.
13:20~ A prnsA—n 4 - 2 B2 T7FC |D24r
13:50~ SJZH 6 - 1 Fby D3z
SfriEs | I
T DHE A DUE
14:30~ NMUJFC 0 - 3 Ba7FC AR




